Algebra – addition of symbols


Hello, 
*
Remember addition of numbers:

3 + 
3 = 6

What if the number is not known yet and being represented by a symbol only?

d + d =
?
where the value of d is not known
But we can solve the question this way:
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It is obvious that the answer is 2 times d, because there are 2 rows of d numbers long.
Make sure you understand the above! Or else, ASK!
Therefore, 
d + d =
 2 times d

That is 

d + d =
 2 x d

However, in algebra, we can ignore the multiplication operator ‘x’ here.

So, the answer is:


Remember!!!
Look at the following pattern:

  d =   d 
d + d = 2d

(as proved on previous page)

similarly,     
          d + d + d = 3d 

Therefore we can say:





Remember!!!

*
Algebraic Terms:



2d + d = 3d



Addition:

Therefore, adding two similar terms is:

Multiplying the sum of the coefficients with the symbol.
The row is d ones long, and we don’t care how long it is!!!





d + d = 2d





Ask your tutor, what is similar and what is not?





2d + d = 3d





Terms





Coefficients: 2, 1, 3
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